6’ x 20’ Main Dock

Bill of Materials:

e Obtained from Local Hardware Store Or Marine Supply

15

Standard ~ Commercial # Part Description

26522 25491% 1 Outside Corner Male

26524 26417* 2 Inside Corner

26523 26402% 3 Outside Corner End

26527 26406%* 4 Angle Bracket

24284 26409* 5 Washer Plate

26530 6 3/8”x2-1/2” Carriage Bolt Set

or 26533 6 1/2”x 3” Carriage Bolt Set

24288 24290 7 3/8” x 2” Lag Bolt & Flat Washer
o o 8 24” x 48” x 16” Float Drum
o o 9 20 Penny Screw Nails

Qty.

2
4
2
28
40
128
128
48
8

About 7 lbs.

* Most commonly used. Other parts or options available, see product descriptions, pages 3-6

Lumber Materials:

2” x 8 x 20 Side Stringers (237-1/4”) 2
2”x8”x 6’ End & Cross Stringers (69”) 6
2”x 8 x4 Short Cross Stringers (45-15/16”%) 10
2”x6”x 8 Deck Boards (74-1/2”) 40

* Should be individually measured.

Design Notes:

Tie Down assumes no responsibility or liability for the completeness
or accuracy of these drawings. Drawings are provided as a guideline
only. Dimensions are approximate. Variances do concur in lumber and
component parts, so please check all measurements on dock hardware,
float drums and lumber prior to drilling holes. Verify all dimensions
length, width and thickness of lumber.



6’ x 20’ Main Dock

< ¢ 3 237-1/4” 3 >
Q «—— 47-7/16” > 47-7/16” 47-7/]16” >< 47-7/]16” > < 47-7/16” —>
11 1 Side Stringer 1 i " 1 11
y | - | w | = = | | . . P '
; 4 o~ Eli —a—p (= lla aﬂi ) (== Tﬂa = ng o A
a:-—.—|§ = gl o ™ w (@ o = El?.ico
23” E i \0 I Cross Stringers — | i End
. 2| |a 1L ol . I _ . Stringer
gy I = [Tn ol | 1 sl | =1 [ =* Y f=
ﬂ ﬂ ol ﬂ ﬁ ® ﬂ ﬂ ®| ﬂ ﬁ ﬂ ﬂ A/ 2
23” o End 69 ;
727 Stringer o 6\ o N o 72
AR il I il il !
t==—| |8 * el IR * * AN : . A= o < < o1 1= - - =l ==
o “la”  Short Cross JA Tl T " =
237 Stringers Q
==o| W o 4 “ o o[ ==
‘ oj; g oo §|I —p _ 15 _ } a_ — — Iﬂa . . S i |-== v '
't ! Side Stringer 'j ! ! h ! \G/D l b
6
¥ ~Deck Boards™

)

g

=1

™
~—

2‘x4’ x 16”

Float Drums

L

NT 11
—

2” 8”
Design Notes
On Page 12

16




8’ x 20’ Main Dock

Bill of Materials: Lumber Materials:

Standard  Commercial # Part Description Qty. 2” x 8” x 20’ Side Stringers (237-1/2”) 2
26522 25491%* 1 Outside Corner Male 2 2”7 x 8 x 10 End & Cross Stringers (93”) 6
26524 26417* 2 Inside Corner 4 22 x 8” x 4’ Short Cross Stringers (46”%) 15
26523 26402% 3 Outside Corner End 2 2”x6” x 10 Deck Boards (98-1/2”) 40
26527 26406%* 4 Angle Bracket 34 * Should be individually measured.

24284 26409* 5 Washer Plate 52
26530 6 3/8”x 2-1/2” Carriage Bolt Set 160 Design Notes:
or 26533 6 1/2”x 3” Carriage Bolt Set 160 Tie Down assumes no responsibility or liability for the completeness
24288 24290 7 3/8” x 2” Lag Bolt & Flat Washer 48 or accuracy of these drawings. Drawings are provided as a guideline
o o 8 20 Penny Screw Nails About 7 Ibs. only. Dimensions are approximate. Variances do concur in lumber and
. . 9 2’ x 4’ x 16” Float Drum 8 component parts, so please check all measurements on dock hardware,
e Obtained from Local Hardware Store Or Marine Supply float drums and lumber prior to drilling holes. Verify all dimensions
* Most commonly used. Other parts or options available, see product descriptions, pages 3-6 length, width and thickness of lumber.

i -



8’ x 20’ Main Dock

< 237-1/2” >

a 47127 < 47-1/2” > 47-1/2” >< 47-1/2” < 47-1/2"—> e
1 I 1 ] iy

Y
A

=)

5 ot
I 1
} |
LT
Iy ]
! I
ik i

== |8
=
==—| | |5

0 0
K} K ]

=
i /‘ 1|
24” Short Cross End
y U y U Stringers Stringer
i T
bt It
2 4” N End 0
Stringer
it /
- alfg %:m:o * * a|)7vlE E’&m:c al— —
Cross Stringers — 7

(=m—]| 1

d 11 ! Side Stringerj !

¥ Deck Boards Y

o o I o s o s o o o o s o o o v o o Y | i I o s o o I o

T T e T T T T

18

[a—
t=m—| | o

g |—==
i1 J-=—=

e

s
|
[
|
o

]
.




10’ x 20” Main Dock

Standard
26522
26524
26523
26527
24284
26530

24288

19

or

Bill of Materials:

Commercial

25491*
26417%
26402%
26406*
26409%

26533
24290

O WO UTh WN - H

Part Description

Outside Corner Male

Inside Corner

Outside Corner End

Angle Bracket

Washer Plate

3/8”x2-1/2” Carriage Bolt Set
1/2”x 3” Carriage Bolt Set
3/8” x 2” Lag Bolt & Flat Washer
20 Penny Screw Nails

24” x 48” x 16” Float Drum

e Obtained from Local Hardware Store Or Marine Supply
* Most commonly used. Other parts or options available, see product descriptions, pages 3-6

48

64

192

192

104
About 9 lbs.

13

Lumber Materials:

2” x 87 x 20’ Side Stringers (237-1/2”) 2
2”x8”x 10’ End & Cross Stringers (117”) 6
2”x 8’ x4 Short Cross Stringers (46”*) 20
2”x6”x 12’ Deck Boards (122-1/2”) 40

* Should be individually measured.

Design Notes:

Tie Down assumes no responsibility or liability for the completeness
or accuracy of these drawings. Drawings are provided as a guideline
only. Dimensions are approximate. Variances do concur in lumber and
component parts, so please check all measurements on dock hardware,
float drums and lumber prior to drilling holes. Verify all dimensions
length, width and thickness of lumber.



10’ x 20” Main Dock

< 237-1/2” >
¢ ¢ ¢ ¢
«———— 47-1/2” > 47-1/2” > 47-1/2” >l 47-1/2” e 47-1/2— ) e
Q ! ! @ ! 1]
= =z * * =] Tﬂa < < ET —a—p =] Tﬂa < * = = A
T e Side Stringer —j s = lo| = A :Z:
N R Cross Stringers — 1| I
“j% %*HE “3% %ﬁlﬁ “j‘% %* gt |-=—
[ 1t byl !

Ql P ) S =] [Tk =Ty [Tt =T [ =T I+ it [l
Tl i T 1 iyt iy |20
247 Short Cross

N I Stringers N .
Lo il | il i 17
Q (=m—| jﬁfﬂﬁ . . E|,% %f':" . 8 a|—% . aﬂf}ﬁ %w:o . . Elfﬁf —m=p
2 4” « End ‘—\
Stringer i N End
l I il 1 il 1 Stringer
QT = ;lﬂ * 8 57% %ﬂ ‘ B alfé B aﬂfé %-:o B * Elf@ =
” T
247 . Cross Stringers — 1| N =
l ==—| k& = ) . alTr —=—p =m— [a— i}a . . gil! v

=
==

==—|
==—| K

)

Side Stringer \ ! b

Q.

¥~ Deck Boards™ ™\

o o s o o o o s o o s o o s o o s o o o s o o o o s o s o o o s o

2‘(x 8)’
Design Notes
On Page 12

20




3’ x 20’ Finger Dock

Bill of Materials:

Standard  Commercial # Part Description
26522 25491% 1 Outside Corner Male
26524 26417% 2 Inside Corner
26523 26402% 3 Outside Corner End
26527 26406%* 4 Angle Bracket
24284 26409* 5 Washer Plate 48
26530 6 3/8”x 2-1/2” Carriage Bolt Set 128
or 26533 6 1/2”x 3” Carriage Bolt Set 128
26536 7 1/2”x 5” Carriage Bolt Set 16
24288 24290 8 3/8” x 2” Lag Bolt & Flat Washer 64
o o 9 20 Penny Screw Nails About 9 Ibs.
. ° 10 24” x 36” x 16” Float Drum 8

e Obtained from Local Hardware Store Or Marine Supply
* Most commonly used. Other parts or options available, see product descriptions, pages 3-6

Design Notes:

Lumber Materials:

2”7 x10” x 20° Side Stringers (237.5”) 2
2”x10”x 3’ End & Cross Stringers (33”) 18
2”x6” x4 Deck Boards (38.5”) 40

Tie Down assumes no responsibility or liability for the completeness or accuracy of these drawings. Drawings are provided as a guideline only. Dimensions are approximate.
Variances do concur in lumber and component parts, so please check all measurements on dock hardware, float drums and lumber prior to drilling holes. Verify all

dimensions length, width and thickness of lumber.

& -



3’ x 20’ Finger Dock

< 237-1/4” >
¢ Q ¢ QQ Q ¢ Q ¢¢ ¢
-3/4” 3147 -3/4” 1.5” Rear
l— 147 > 4—23 25”7 >y |« 23.25” ‘4‘4 23.25” » 23.25”—>» 4‘: 23.25” 5> 1« 23.257 > <> 23.25” > |« 23.25"> End
Stringer
1 7\ i H\F 7\ T UH :
-, |a TIIE / oj ‘ T Heell —’u:o o:- ‘ TEEN E
=== 1\ Side I
Front — Stringer 337
End 2
Stringer l 36
T 14 o | 7 =SS el =) e l

pu—
pu—
pu—
=] |—1
e ]
v
£ B
o
o
v =
o
o
&
o
=
(=5 §
pu—

¥~ Deck Boards’\

B0 Y Y g g8 BJL

Z”X 10’)
Design Notes
On Page 12

22




4’ x 20’ Finger Dock

Bill of Materials:

Standard ~ Commercial  # Part Description
26522 25491* 1 Outside Corner Male 2
26524 26417* 2 Inside Corner 4 Lumber Materials:
26523 26402* 3 Outside Corner End 2 27 < 10” x 20 Side Stringers (237-1/4”) 2
26527 26406* 4 Angle Bracket 32 27 x6” x 4’ End Stringer (Front - 45”) 1
24284 26409* 5 Washer Plate 48 27x10” x 4’ End & Cross Stringers (45”) 17
26530 6 3/8”x2-1/2” Carriage Bolt Set 128 2” v 6” x 10° Deck Boards (40 @ 50-1/4”) 20
or 26533 6 1/2”x 3” Carriage Bolt Set 128
26536 7 1/2”x 5” Carriage Bolt Set 16
24288 24290 8 3/8” x 2” Lag Bolt & Flat Washer 64 Design Notes:
. o 9 24” x 48” x 16” Float Drum 8 Tie Down assumes no responsibility or liability for the completeness
o o 10 20 Penny Screw Nails About 5 Ibs. or accuracy of these drawings. Drawings are provided as a guideline

only. Dimensions are approximate. Variances do concur in lumber and
component parts, so please check all measurements on dock hardware,
float drums and lumber prior to drilling holes. Verify all dimensions
length, width and thickness of lumber.

» - @9

e Obtained from Local Hardware Store Or Marine Supply
* Most commonly used. Other parts or options available, see product descriptions, pages 3-6




4’ x 20’ Finger Dock

< 237-1/4” >
¢ ¢¢ ¢ ¢ ¢¢ ¢ ¢ ¢¢ ¢ ¢ ¢¢ ¢
1.5 5.3/4” 1.5 5.3/4” 1.5” 5.3/4” 1.5 Rear
< 14” »<«—23.25” > '«— 23.25"><><—23.25" > 23.257 > <>« 23.25” >« 23.25” > <>« 23.25” >« 23.25”><«14” >»| End
T | iy i 1 K Y O
-1 % = i fieH ‘—mé'v d = o'é-—‘ Tl ‘,,,,g, ’E'I = eﬂﬂT Lm—ﬁ A
== | / o ==
/_» 4 e <8 /
Front 48
End »
Stringer 45
@] o8|
(| / g ==
— e JesH] EE! \—m;.v .ﬁ Lx:,..o = /"= Ty

Side Stringer

¥~ Deck Boards’\ aﬁ
s T s e T e ' s s T e i s e 1 e s ]

(=07 88 8 &8 88 @1 ¢ ¥©§ @ %5 8§ @

ﬂ g0 3 B 00 i

. A J}

24




10’ x 10’ Swim Dock

Bill of Materials:

Standard
26523

26524
24284
26527
26529
26530

24288

or

or

Commercial

26402%*
26413%

26417*
26409*
26406*
26410

26533
24290

N = 3k

OO~ W

Part Description
Outside Corner End

Qty.
4

Backup Plate (1 if used with inside corner) 9

Inside Corner

Washer Plate

Angle Bracket

Chain Retainer

3/8”x2-1/2” Carriage Bolt Set
1/2”x 3” Carriage Bolt Set

3/8” x 2” Lag Bolt & Flat Washer
24” x 48” x 16” Float Drum

20 Penny Screw Nails

e Obtained from Local Hardware Store Or Marine Supply

* Most commonly used. Other parts or options available, see product descriptions, pages 3-6

25

4
20
10
1
76
76
36
6
About 6 Ibs.

Lumber Materials:

2”x 87 x 10 Side Stringers (120”) 2
2”x 8 x 10 End & Cross Stringers (117”) 6
2”x8”x3 Short Cross Stringer (22-1/2%) 1
2”x6”x 10 Deck Boards (122-1/2”) 21

* Should be individually measured.

Design Notes:

Tie Down assumes no responsibility or liability for the completeness
or accuracy of these drawings. Drawings are provided as a guideline
only. Dimensions are approximate. Variances do concur in lumber and
component parts, so please check all measurements on dock hardware,
float drums and lumber prior to drilling holes. Verify all dimensions
length, width and thickness of lumber.



10’ x 10’ Swim Dock

: 117”
[‘ End Stringer ﬂ
] ] [
= \ = -
Cross
Stringers
\ E I

T ;m/— Short Cross Stringer

g—] =
e/ﬂ\Z mee 1 2 On
—

Side

Stringer

-] =
g =
[ ) [ ) = :.J : | A4
[

" it

End Stringer
< 57-1/2"—»
< 60” >
¢
¥ ~Deck Boards™

2”x 8”
See Design Notes
on Page 12

2°x4’x16” __A
Float Drums

26




12’ x 12’ Swim Dock

Bill of Materials: Lumber Materials:
Standard  Commercial  # Part Description Qty. 2’ x8”x12’ Side Stringers (144”) 2
26523 26402* 1 Outside Corner End 4 2”x8”x12° End & Cross Stringers (141”) 6
26524 26417% 2 Inside Corner 4 2”x 8 x 3’ Short Cross Stringer (27-5/16”%) 1
26413%* 3 Backup Plate 1 2”x6” x 14’ Deck Boards (146-1/2”) 25
24284 26409%* 4 Washer Plate 20 * Should be individually measured.
26527 26406%* 5 Angle Bracket 16
26529 26410% 6 Chain Retainer 1 )
26530 7 3/8”x2-1/2” Carriage Bolt Set 84 Design Notes: o
or 26533 7 1/2”x 3” Carriage Bolt Set 84 Tie Down assumes no responmblhty or liability for the completeness
24288 24290 8 3/8” x 2 Lag Bolt & Flat Washer 28 or accuracy of these drawings. Drawings are provided as a guideline
R R 9 24” x 48” x 16” Float Drum 8 only. Dimensions are approximate. Variances do concur in lumber and
. R 10 20 Penny Screw Nails About 7 Ibs. component parts, so please check all measurements on dock hardware,

float drums and lumber prior to drilling holes. Verify all dimensions

e Obtained from Local Hardware Store Or Marine Supply length, width and thickness of lumber.

* Most commonly used. Other parts or options available, see product descriptions, pages 3-6

4 B @9




12’ x 12’ Swim Dock

- o O
11 End Stringer
Fx - .. e
] | -
28-13/16”
¢ l — #la ) —
| o )
o
28-13/16” Cross Stringers
- — ﬁ
{1l I |-
Q t=m—| ;ﬂa EIT Tn:b B =)
7| |&—— Short Cross Stringer
81316 || O | = 44
Side i F= '
l Stringer /m . Sldfe
T =|| Stringer
==—| |8 =m le —w—)
¢ :
=m— ;ﬂa \ﬂ \ﬂ )
T ) \ ) | )
28-13/16” w
L .
Q T (=m— ‘ la —m—)
28-13/16”
l t==—| |8 e
T % = = v
I:ﬂ ! A\E‘nd Stringer
< 72”

701275
¢ mt

¥~ Deck Boards™

O O O O v v 1]

2”x 8”
See Design Notes
on Page 12

28




Typical U - Dock

Design Notes:

6‘x 16’ Tie Down assumes no responsibility or liability for the
Main Dock completeness or accuracy of these drawings. Drawings are
Section provided as a guideline only. Dimensions are approximate.

Variances do concur in lumber and component parts, so

please check all measurements on dock hardware, float
drums and lumber prior to drilling holes. Verify all
dimensions length, width and thickness of lumber.

4 x 200

¥ Finger Docks

Bill of Materials (6’ x 16’ Main Dock Section Only):

Standard ~ Commercial — # Part Description 2
26523 26402* 1 Outside Corner End 2
26524 26417* 2 Inside Corner 4
26521 25400% 3 Outside Corner Female 2
26528 56407* 4 Female T Connector 2
o 26413%* 5 Back Up Plate 2
24284 26409* 6 Washer Plate 54 Lumber Materials (6’ x 16’ Main Dock Section Only):
26527 26406* 7 Angle Bracket 40 27x10” x 16’ Side Stringers (192”) 2
26530 8 3/8”x2-1/2” Carriage Bolt Set 176 27 x 10” x 6 End & Cross Stringers (69”) 8
or 26533 8 1/2”x 3” Carriage Bolt Set 176 27 % 10” x 6’ Short Cross Stringers: 6
24288 24290 9 3/8” x 2” Lag Bolt & Flat Washer 64 (8 @ 34-1/27%) & (6 @ 17-1/27%)
24279 : 1‘1’ 12{4‘?,‘ H;gf B"llgffgl b 2 27x6”x8  Deck Boards (74-1/2”) 33
X X ({at ram 8 * Should be individually measured.
J o 12 20 Penny Screw Nails About 7 Ibs.

¢ Obtained from Local Hardware Store Or Marine Supply
* Most commonly used. Other parts or options available, see product descriptions, pages 3-6

? -




Typical U - Dock

¥~ Deck Boards N A

3 @—m ¢ i 8 [T RHIT
\
o o @
H H , See Design Notes
on Page 12
< 192” >
¢ ¢ ¢ ¢ ¢ ¢
<« 35-1/4” —>| 17-1/2” |«<— 34-1/2” —> 17 1/2” |[«—34-1/2” | 17-1/2” |«<— 35-1/4"——>
i it P | P I
N ¥ 4 Y ol ‘,,,,:0 i ‘f i + El ‘mzo o ‘f v * Ll ‘*mzv i ‘f 5 N | T A
=Pl ol ™ o™ o o™ o™ o™ Zu,tz
24”
L T | i | | ne e | i N | 1 : EU:.,JLQ
e 1 ﬂK\ ) e o Shmcmssp/ﬂ/ﬂ/‘ i é/ T
T0SS Stringers End 24”

=] =
g—| ==
| =

)
g
8-~
El

Stringers —7 Stringer > »
Qi O || O % i
" ‘ IR e 1 " A i

m
=1
. L |
=
. i

| ? 2

N 3 . R L\“Ha %.HE . n' i .Hlﬂ T .}ua N ﬂml

T T WAk T
Side Strmger I i

N4 , )

4“ x 20’ Finger Dock 4“ x 20’ Finger Dock

30






